HARI M. SRIVASTAVA is Professor Emeritus at the University of Victoria since 2006, having joined the faculty there in 1969. He has held other faculty positions and visiting positions at many universities and research institutes around the world. He has written more than 1000 papers and has collaborated with over 400 co-authors. His other publications include (for example) 21 books, monographs, and edited volumes. See http://www.math.uvic.ca/faculty/harimsri/.

Department of Mathematics and Statistics, University of Victoria, British Columbia V8W 3R4, Canada harimsri@math.uvic.ca

A Polynomial Parent to a Fibonacci–Lucas Relation

The ubiquitous Fibonacci and Lucas sequences

$$\{F_n : n \ge 0\} = \{0, 1, 1, 2, 3, 5, 8, 13, 21, 34, 55, \ldots\}$$
$$\{L_n : n \ge 0\} = \{2, 1, 3, 4, 7, 11, 18, 29, 47, 76, 123, \ldots\}$$

are defined via the same recursion $a_{n+2} = a_{n+1} + a_n$ with different starting values. There are many known relations between them. The purpose here is to observe one more relation, which follows from a simple polynomial identity (thought of as a parent?).

Theorem.

$$2^{n+1}F_{n+1} = \sum_{i=0}^{n} 2^{i}L_{i}.$$

Here is the proof.

Note that for indeterminates u, v and any positive integer n, we have the polynomial identity

$$(2u)^{n+1} - (2v)^{n+1} = (u-v)\sum_{i=0}^{n} \left((2u)^{i} + (2v)^{i} \right) (u+v)^{n-i}.$$

The proof follows simply by summing the two geometric series

$$\sum_{i=0}^{n} (2u)^{i} (u+v)^{n-i}, \quad \sum_{i=0}^{n} (2v)^{i} (u+v)^{n-i};$$

these are, respectively, $\frac{(2u)^{n+1} - (u+v)^{n+1}}{u-v}$ and $\frac{(u+v)^{n+1} - (2v)^{n+1}}{u-v}$.

Put u = 1/2, $v = \sqrt{5}/2$; then u + v, u - v are the two roots α , β of $t^2 - t - 1 = 0$. So, the Cauchy-Binet formulas $F_{n+1} = \frac{\alpha^{n+1} - \beta^{n+1}}{\alpha - \beta}$ and $L_n = \alpha^n + \beta^n$ for the Fibonacci and Lucas numbers give the asserted identity:

$$F_{n+1} = \frac{\alpha^{n+1} - \beta^{n+1}}{\alpha - \beta} = \sum_{i=0}^{n} \frac{2^{i} (\alpha^{i} + \beta^{i})}{2^{n+1}} = \frac{\sum_{i=0}^{n} 2^{i} L_{i}}{2^{n+1}}.$$

—Submitted by B. Sury, Stat-Math Unit, Indian Statistical Institute, 8th Mile Mysore Road, Bangalore 560059, India, sury@isibang.ac.in

http://dx.doi.org/10.4169/amer.math.monthly.121.03.236 MSC: Primary 11B39